
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

2048, 6 × 0.001 = ________ 5707, 6 × 0.1 = ________

8258, 5 × 0.1 = ________ 7592, 7 × 0.0001 = ________

4505, 7 × 0.0001 = ________ 5779, 8 × 0.1 = ________

2496, 2 × 0.0001 = ________ 1058, 5 × 0.001 = ________

7795, 5 × 0.001 = ________ 3588, 1 × 0.1 = ________

9828, 7 × 0.001 = ________ 2360, 5 × 0.001 = ________

2109, 8 × 0.1 = ________ 5419, 7 × 0.0001 = ________

6192, 9 × 0.1 = ________ 9901, 9 × 0.1 = ________

8122, 3 × 0.0001 = ________ 5282, 1 × 0.01 = ________

9943, 1 × 0.0001 = ________ 8693, 1 × 0.0001 = ________

www.snowmath.com

https://www.snowmath.com


Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

2048, 6 × 0.001 = 2.0486 5707, 6 × 0.1 = 570.76

8258, 5 × 0.1 = 825.85 7592, 7 × 0.0001 = 0.75927

4505, 7 × 0.0001 = 0.45057 5779, 8 × 0.1 = 577.98

2496, 2 × 0.0001 = 0.24962 1058, 5 × 0.001 = 1.0585

7795, 5 × 0.001 = 7.7955 3588, 1 × 0.1 = 358.81

9828, 7 × 0.001 = 9.8287 2360, 5 × 0.001 = 2.3605

2109, 8 × 0.1 = 210.98 5419, 7 × 0.0001 = 0.54197

6192, 9 × 0.1 = 619.29 9901, 9 × 0.1 = 990.19

8122, 3 × 0.0001 = 0.81223 5282, 1 × 0.01 = 52.821

9943, 1 × 0.0001 = 0.99431 8693, 1 × 0.0001 = 0.86931
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